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QUESTION 1

Which statement about Oracle Cloud Infrastructure paravirtualized block volume attachments is TRUE? (Choose the
best answer.)

A. Paravirtualized volumes may reduce the maximum IOPS performance for larger block volumes.
B. Paravirtualized is required to manage iSCSI configuration for virtual machine instances.
C. Paravirtualized volumes become immediately available on bare metal compute instances.

D. Paravirtualization utilizes the internal storage stack of compute instance OS and network hardware virtualization to
access block volumes.

Correct Answer: A

Reference: https://blogs.oracle.com/cloud-infrastructure/paravirtualized-block-volume-attachments-for-vms

QUESTION 2

You have a 750 MIB file in an Oracle Cloud Infrastructure (OCI) Object Storage bucket. You want to download the file in
multiple parts to speed up the download using the OCI CLI. You also want to configure each part size to be 128 MIB.

Which is the correct OCI CLI command for this operation? (Choose the best answer.)

A. oci 0s object get —-ns my—namespace —bn my—bucket —name my—large—object —multipart—download- threshold 750
—parallel-download—count 128

B. oci os object download —ns my—namespace —bn my—bucket —name my-large—object —multipart—
download—threshold 750 —parallel-download—count 128

C. oci os object download —ns my—namespace —bn my—bucket —name my-large—object —resume—put
—multipart—-download—threshold 500 —part-size 128

D. oci os object get —ns my—namespace —bn my—bucket —name my—large—object —multipart—download- threshold 500
—part—size 128

Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/API/SDKDocs/cliusing.htm

QUESTION 3

Which technique does NOT help you get the optimal performance out of the Oracle Cloud Infrastructure (OCI) File
Storage service? (Choose the best answer.)

A. Limit access to the same Availability Domain (AD) as the File Storage service where possible.
B. Serialize operations to the file system to access consecutive blocks as much as possible.

C. Right size compute instances from where file system is accessed based on their network capacity.
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D. Increase concurrency by using multiple threads, multiple clients, and multiple mount targets.
Correct Answer: D

Reference: https://www.oracle.com/a/ocom/docs/cloud/file-storage-performance-guide.pdf (6)

QUESTION 4

You run a large global application with 90% of customers based in the US and Canada. You want to be able to test a
new feature and allow a small percentage of users to access the new version of your application.

What Oracle Cloud Infrastructure Traffic Management steering policy should you utilize? (Choose the best answer.)
A. Load Balancer

B. IP Prefix steering

C. ASN steering

D. Geolocation steering

Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/TrafficManagement/Tasks/trafficmanagement.htm

QUESTION 5

You have been asked to update the lifecycle policy for object storage using the Oracle Cloud Infrastructure (OCI)
Command Line Interface (CLI).

Which command can successfully update the policy? (Choose the best answer.)
A. oci os object-lifecycle-policy delete —ns —bn

B. oci os object-lifecycle-policy put —ns —bn

C. oci os object-lifecycle-policy put —ns —bn — —items

D. oci os object-lifecycle-policy get —ns —bn

Correct Answer: C
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